1-Jan

DYDY AW 597 MRS 8NShh YN
JIRD 7T WYNW 1 NIWNN

WYY ,997 MNND NNST RN WS 89
INXYY 17

.599 MRS NRSHAY PO

i ahnigla)

— 77791 X VP RIWD N2 DR OIRDT
LW PR BN 7D INXY LAy Awan
IR ANNVR M PROIPR POITPR I
mRSIND ,[FINDRNI] MERANNNY — AN
Y731 D120 Nw 21Pwn ,rn 62,95
72900 21YWN YUYW 19210 1INIWNY XD

.7O71IRY 03

,I9Y2 P — AR mNYYR ox bax
MP2IND — MPERANNNY AR ANR 2
1AT™Y NPT LAY NI NIAINOT DY LW
TYpD ANWRIT OYDY AR ARWAW
Sv nIdt G3),mann AR Sw o Inwn
0% X971 237 NYw 5% Nyapl 73Inc7

ptabal=Faki sl

1-Jan

WU 1T LT 02712 IRIP JRon avvw
PIRD %YW 0% 77 927 XKW DMK
(GO)[137 INRY TIORY DMK W ORI’
72 NI N2 0N RN mINR 2% SRS

STIARYD YT TN — PIINS

anIN hh?ﬁ:hﬂ 7 20%1¥I10 D°72va 2%
29925 BRIN 1PWIT ,/EDYNN BDYRY
B985 29 NYS NYY —

NS DYDY WIS BN P8 2007 T
K1)

RIT] TIPW 717 927 999 9 AN MY ans
IMND AW DWH O RIPNLORINY
[(BD73970 0INRY 1727 Yy TPwW T3

TN

SRIW 7 2[In] WD TP 1M
ORINY KDY TN 99 8T 1K

TP ANT ,TIR 29 2707 NN :71IK2MY
SN

AN IS W 997 MMN A3 AR anN

o5 1% ANNY AR XD IRMD DXY7 2NN

n21M5% 1m0 JXOM — “MYINAT N Npwe
M3 — AT RPW PO ,AMNR (n AwR
AX? — 71 NINDT M (PYRW RPN

ARW ,7°N7INNT 77 WY YaR .o1p 10 X7
1 7% X201 ,7ARY AnND — Axwna
127 YW My MR PTIR LNINT AINT
ROPR OMPWIPIT RAM] LART R ORDX
77171 2% Y aR3 PIdDpw U710 oyvnd

[7D° Pya

WD 1727w IR°27 ‘01N S7WI WD 73 .33
7Y ,NRR AWKR2 %970 100D babhi

°29W ,1202 [2 »] DINIM ‘012 '0IN2 DIAR .30
.ON™RT WY LKTT 27 1170 IRD X7

IPW AV LROPR TV 7w WD 70 .31
.70 NS Yy

IR TV 71O RPYL AT ,I70 20D .32
IR ORIT ,PWITR 032 KON ,AwTpb
.AnaIn02
Mm% XPR RHP RINDT ,AN3 YWIT "D
1P IPYRWI LR »77 TIwn 0noT (13T
721057 Y X207 [ 7] D YY AR pID2
a7 e [7] Xpp pIDa Y, RNTUMIRT



